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Explanations and answers to select questions

01 Option (B) is the correct answer. Its homophone is : Ate.

03 Option (B) is the correct answer. The correct spelling is : Biscuit.
05 Option (B) is the correct answer. ‘Coup’ is pronounced as ‘Coo’.
06 Option (D) is the correct answer. A library of books.

12 Option (D) is the correct answer. The words ‘red meat’ and ‘green salad’ are compound nouns, so, there
is only one adjective, ‘fried’.

20 Option (C) is the correct answer. The phrasal verb ‘look (something) up’ means ‘to look for information in
a dictionary, reference book, computer, etc.

21 Option (B) is the correct answer. The sounds produced by the first syllables of ‘RTC’, ‘auto-rickshaw’ and
‘unidentified’ are as in ‘arc’, ‘outer’ and ‘anna’ respectively, all vowel sounds, so ‘an’ at all the blanks.

23 Option (B) is the correct answer. Only that cannot be a noun.

24 Option (D) is the correct answer. The first pair is of synonyms, and only ‘finite’ makes the second pair similar
in manner.

25 Option (C) is the correct answer. There is no change of tense in the reported speech without quotes, when
the reporting verb is in present tense (says here).

26 Option (B) is the correct answer. It represents ‘someone’. Pronoun ‘them’ is used to represent a singular
noun when the gender of that noun is not known.

33 Option (D) is the correct answer. ‘Livestock’ covers only these.

(Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.)
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